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Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes

each sentence. Then mark the correct choice on your answer sheet.

She emanated worldliness and the selfishness of one who is ........... to everything but her
own needs and caprices.

1) visible 2) available 3) compensatory 4) indifferent
Concrete blocks were piled high to .......... the government center.

1) fortify 2) circulate 3) reveal 4) overlap

All sound has three .........: pitch, volume, and duration.

1) impacts 2) properties 3) merits 4) realms

One of Britain’s most .......... criminals has escaped from prison.

1) meritorious 2) indigenous 3) notorious 4) industrious
By the 1930s the wristwatch had almost completely .......... the pocket watch.

1) devised 2) supplanted 3) thwarted 4) founded
She cared for her stepmother with unfailing .......... throughout her long illness.
1) devotion 2) defect 3) conformity 4) prevalence
Ryan needed ........... agreement to bring his proposal up for a vote.

1) contentious 2) deliberate 3) adjacent 4) unanimous
With so much water having ......... its exterior, the engine was effectively ruined.
1) varnished 2) inhabited 3) penetrated 4) exceeded
Considering the ........... of his injuries, he’s lucky to be alive.

1) hurdle 2) extent 3) divergence 4) symptom
They intend to keep their force there in the region to ......... compliance with the treaty.
1) verify 2) seize 3) recollect 4) conquer

11-

12-
13-
14-
15-

(4) best fits each space. Then mark the correct choice on your answer sheet.

PART B: Cloze Test
Directions: Read the following passage and decide which choice (1), (2), (3), or

The extensive fossil record of genera and species is testimony that dinosaurs were diverse

animals, (11) ........ lifestyles and adaptations. Their remains (12) ......... in sedimentary rock
layers (strata) dating to the Late Triassic Period (227 million to 206 million years ago). The
abundance of their fossilized bones is substantive proof (13) ......... dinosaurs were the
dominant form of terrestrial animal life during the Mesozoic Era (248 million to 65 million
years ago). It is likely that the known remains (14) .......... a very small fraction (probably less
than 0.0001 percent) of all the individual dinosaurs (15) ...........

1) and widely various 2) with wide varieties

3) with widely varying 4) and varying with wide

1) found 2) are found 3) that are found 4) have found

1) whether 2) when 3)if 4) that

1) representing 2) a representation of  3) representative of  4) represent

1) were living once 2) that lived once

3) that once lived 4) once that they lived
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Part C: Reading Comprehension
Directions: Read the following three passages and answer the questions by choosing the
best choice (1), (2), (3), or (4). Then mark correct choice on your answer sheet.

Passage 1

According to Newtonian theory, teleportation is clearly impossible. Newton’s laws are based
on the idea that matter is made of tiny, hard billiard balls. Objects do not move until they are
pushed; objects do not suddenly disappear and reappear somewhere else.

But in the quantum theory, that’s precisely what particles can do. Newton’s laws, which held
sway for 250 years, were overthrown in 1925 when Werner Heisenberg, Erwin Schrddinger,
and their colleagues developed the quantum theory. When analyzing the bizarre properties of
atoms, physicists discovered that electrons acted like waves and could make quantum leaps in
their seemingly chaotic motions within the atom.

The man most closely associated with these quantum waves is the Viennese physicist Erwin
Schrodinger, who wrote down the celebrated wave equation that bears his name, one of the
most important in all of physics and chemistry. Entire courses in graduate school are devoted
to solving his famous equation, and entire walls of physics libraries are full of books that
examine its profound consequences. In principle, the sum total of all of chemistry can be
reduced to solutions to this equation.

It is true that Newtonian theory ------------- .

1) cannot account for teleportation

2) posits that objects can move without the interference of outside force

3) views the sudden disappearance and reappearance of objects as compatible with reality
4) failed to justify the results of the experiments implemented a century after its inception
The word “overthrown” in paragraph 2 is closest in meaning to ----------- .

1) transmuted 2) fabricated 3) subverted 4) despised

Based on the quantum theory, ------------

l)a phenomenon such as teleportation is 501ent1ﬁcally justifiable

2) it is not odd to think of matter as composed of tiny, hard billiard balls

3) there is no harmony between the bizarre properties of atoms and the behavior of waves
4) there are many physical events that Newtonian theory can plausibly explain

In the passage, electrons are compared to ------------ .

1) chaotic motions 2) waves 3) leaps 4) bizarre properties
The wave equation --------------- .

1) involves conflicting solutions 2) is restricted in application to physics

3) carries the name of a chemist 4) has received enough weight

Passage 2

Perhaps the person who has distinguished himself the most on the dense mathematical
equations of black holes and time machines is cosmologist Stephen Hawking. Unlike other
students of relativity who often distinguish themselves in mathematical physics at an early age,
Hawking was actually not an outstanding student as a youth. He was obviously extremely
bright, but his teachers would often notice that he was not focused on his studies and never
lived up to his full potential.




21-
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But a turning point came in 1962, after he graduated from Oxford, when he first began to
notice the symptoms of ALS (amyotrophic lateral sclerosis, or Lou Gehrig's disease). He was
rocked by the news that he was suffering from this incurable motor neuron disease that would
rob him of all motor functions and likely soon kill him. At first the news was extremely
upsetting. What would be the use of getting a Ph.D. if he was going to die soon anyway?

But once he got over the initial shock he became focused for the first time in his life.
Realizing that he did not have long to live, he began to ferociously tackle some of the most
difficult problems in general relativity. In the early 1970s he published a landmark series of
papers showing that “singularities” in Einstein’s theory (where the gravitational field becomes
infinite, like at the center of black holes and at the instant of the big bang) were an essential
feature of relativity and could not be easily dismissed (as Einstein thought). In 1974 Hawking
also proved that black holes are not entirely black, but gradually emit radiation, now known as
Hawking radiation, because radiation can tunnel through the gravity field of even a black hole.
This paper was the first major application of the quantum theory to relativity theory, and it
represents his best known work.

As a youth, Stephen Hawking ----------- .

1) was viewed as a mediocre student

2) focused on relativity to the detriment of his school progress

3) did fail to manifest all his dormant talents

4) distinguished himself as lured by black holes and time machines

According to paragraph 2, news of his disease first filled Hawking with which of the
following feelings regarding the pursuit of his education?

1) Ambivalence 2) Dismay 3) Astonishment 4) Resolution
The papers that Hawking published in the early 1970s were ------—--- .

1) rudimentary

2) a duplicate of Einstein’s theory

3) momentous

4) easily dismissed “singularities” in Einstein’s theory

It can be understood that before Hawking, it was generally thought that ------------- .
1) black holes were not only theoretical constructs

2) the gravity field of black holes was much stronger than proved by Hawking

3) black holes were not black altogether

4) even light cannot escape black holes

The word “emit” in paragraph 3 could best be replaced by ------------- .

1) accelerate 2) release 3) incorporate 4) revert

Passage 3

The first process in the generation of lightning is charge separation. The mechanism by
which charge separation happens is still the subject of research. One theory is that opposite
charges are driven apart and energy is stored in the electric field between them. Cloud
electrification appears to require strong updrafts which carry water droplets upward,
supercooling them to —10 to —20  °C. These collide with ice crystals to form a soft ice-water
mixture called graupel. The collisions result in a slight positive charge being transferred to ice
crystals, and a slight negative charge to the graupel. Updrafts drive lighter ice crystals upwards,
causing the cloud top to accumulate increasing positive charge. The heavier negatively charged
graupel falls towards the middle and lower portions of the cloud, building up an increasing
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negative charge. Charge separation and accumulation continue until the electrical potential
becomes sufficient to initiate lightning discharges, which occurs when the gathering of positive
and negative charges forms a sufficiently strong electric field.

The passage is mainly about ----------- .

1) one theory related to lightning generation  2) the processes at work in lightning generation

3) the generation of lightning 4) the steps involved in charge separation

Graupel is formed right after------------- .

1) water droplets are supercooled

2) ice crystals collide with one another

3) a soft ice-water mixture takes shape

4) some positive charge is transferred to ice crystals

The cloud top gathers increasing positive charge because ------—---- .

1) strong updrafts carry water droplets upward

2) there is energy stored in the electric field between ice crystals

3) updrafts drive lighter ice crystals upwards

4) the heavier negatively charged graupel falls towards the middle and lower portions of the
cloud

The word ‘initiate” (in paragraph 2) is closest in meaning to ---—------—-- .

1) revoke 2) expel 3) innovate 4) commence

It can be understood from the passage that the mechanism by which charge separation

occurs is --------- .

1) controversial 2) too complex to be described in detail

3) irrefutable 4) theory-driven
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5l Az aSiyl @ azgi b .ays)S adleses osSauaw; 5505 b sl oyl 5)le0 a0 g i adles wdl)s wiysil o Sl basd Oldbels ol ol )S5 @ oY anles pla8l el
2391 adlezei s LB EwU il Sl pa Srbinass gus b aales aislw csulps adsl AuS 9 Syslrex wirki 90/12/15 &u,b
Jlgw o)locd| auxo @S Jlgw o)locis | gumo ;S Jlgw o)locis | gumo S Jlgw o)locds | guxo aiysS
1 4 26 4 51 2 76 3
2 1 27 3 52 3 77 3
3 3 28 2 53 1 78 1
4 2 29 4 54 2 79 4
5 3 30 1 55 1 80 2
6 1 31 2 56 4 81 3
7 4 32 2 57 1 82 4
8 2 33 1 58 3 83 1
9 3 34 4 59 1 84 2
10 1 35 3 60 2 85 3
11 2 36 2 61 4 86 1
12 3 37 3 62 3 87 2
13 4 38 1 63 2 38 1
14 4 39 3 64 4 89 2
15 2 40 2 65 2 90 4
16 1 41 1 66 4 91 3
17 2 42 4 67 1 92 4
18 1 43 4 68 3 93 3
19 3 44 4 69 1 94 1
20 4 45 1 70 3 95 2
21 2 46 3 71 2 96 4
22 1 47 3 72 1 97 1
23 2 48 1 73 4 98 4
24 4 49 4 74 2 99 1
25 3 50 2 75 4 100 2
Jlow oyloss|  cumo @S o o)los | o awsS | | Jlow ojlos | aueo awsS Jlow oylocis | cumo s
101 1 131 161 191
102 3 132 162 192
103 4 133 163 193
104 4 134 164 194
105 3 135 165 195
106 2 136 166 196
107 1 137 167 197
108 2 138 168 198
109 3 139 169 199
110 4 140 170 200
111 141 171 201
112 142 172 202
113 143 173 203
114 144 174 204
115 145 175 205
116 146 176 206
117 147 177 207
118 148 178 208
119 149 179 209
120 150 180 210
121 151 181 211
122 152 182 212
123 153 183 213
124 154 184 214
125 155 185 215
126 156 186 216
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127 157 187 217
128 158 188 218
129 159 189 219
130 160 190 220

g 0ybo] o S | | s oybois | anmo asS | | Jlgaw oot | o aisS Jlgw oplos | oo S
221 251 281 311
222 252 282 312
223 253 283 313
224 254 284 314
225 255 285 315
226 256 286 316
27 257 287 317
228 258 288 318
229 259 289 319
230 260 290 320
231 261 291
232 262 292
233 263 293
234 264 294
235 265 295
236 266 296
237 267 297
238 268 298
239 269 299
240 270 300
241 271 301
242 272 302
243 273 303
244 274 304
245 275 305
246 276 306
247 277 307
248 278 308
249 279 309
250 280 310

Jlow o)loi| auxo ausS Jlgw o)l | auxo auS Jlgw o)l | aumo aiyS Jlow o)lois | gumo aiS
1 3 26 3 51 4 76 3
2 1 27 4 52 3 77 3
3 4 28 2 53 1 78 4
4 2 29 3 54 4 79 1
5 4 30 1 55 1 80 2
6 1 31 4 56 2 81 2
7 3 32 4 57 4 82 4
8 2 33 1 58 3 83 1
9 4 34 2 59 4 84 3
10 1 35 3 60 2 85 2
11 2 36 4 61 1 86 1
12 4 37 3 62 3 87 3
13 3 38 1 63 2 88 1
14 3 39 3 64 1 89 3
15 2 40 4 65 2 90 4
16 1 41 1 66 1 91 2
17 2 42 2 67 4 92 4
18 1 43 2 68 3 93 2
19 4 44 2 69 4 94 1
20 3 45 1 70 3 95 3
21 2 46 3 71 2 96 4
22 1 47 3 72 4 97 1
23 2 48 1 73 1 98 4
24 3 49 2 74 2 99 1
25 4 50 4 75 1 100 3

Jlgw o)locs| oumso aysS Jlgw o)locss | zumo aiysS | Jlgw o)locss | oumo aiysS Jlgw o)locss | oumes aiyS

101 1 131 161 191
102 2 132 162 192
103 4 133 163 193
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104 4 134 164 194

105 2 135 165 195

106 3 136 166 196

107 1 137 167 197

108 3 138 168 198

109 2 139 169 199

110 4 140 170 200

111 141 171 201

112 142 172 202

113 143 173 203

114 144 174 204

115 145 175 205

116 146 176 206

117 147 177 207

118 148 178 208

119 149 179 209

120 150 180 210

121 151 181 211

122 152 182 212

123 153 183 213

124 154 184 214

125 155 185 215

126 156 186 216

127 157 187 217

128 158 188 218

129 159 189 219

130 160 190 220

s 0t auxo @S | | low oyl | o ausS | | Jlsw oo | anmo awsS | | Jlow o)lois | cus aisss

221 251 281 311

222 252 282 312

223 253 283 313

224 254 284 314

225 255 285 315

226 256 286 316

227 257 287 317

228 258 283 318

229 259 289 319

230 260 290 320

231 261 291

232 262 292

233 263 293

234 264 294

235 265 295

236 266 296

237 267 297

238 263 298

239 269 299

240 270 300

241 271 301

242 272 302

243 273 303

244 274 304

245 275 305

246 276 306

247 277 307

248 278 308

249 279 309

250 280 310

LJ|9_u1 OJL:;_JJ w0 Ch.v)g LJ|9_uJ OJLA_AII fa¥="P-} U.u)g LJ|9_u1 O)LA_JJ fa¥= -1 Q.u)g LJ|9_u1 OJL:;_JJ fa¥= -} Ch.v)g

1 4 26 4 51 2 76 2
2 3 27 1 52 3 77 2
3 1 28 2 53 4 78 1
4 2 29 4 54 2 79 4
5 1 30 3 55 4 80 3
6 3 31 2 56 1 81 4
7 4 32 2 57 4 82 3
8 2 33 4 58 3 83 1
5 1 34 1 59 4 84 2
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10 3 35 3 60 2 85 4
1 2 36 2 61 1 86 1
12 1 37 3 62 3 87 2
13 4 38 4 63 2 88 1
14 4 39 3 64 1 89 2
15 2 40 2 65 2 90 3
16 3 41 4 66 1 91 4
17 2 %2 1 67 1 92 3
18 3 43 1 68 2 93 4
19 1 44 1 69 1 94 1
20 4 45 4 70 2 95 2
21 2 46 3 71 3 9% 3
2 3 47 3 72 1 97 1
23 2 48 4 73 4 98 2
24 4 49 1 74 3 99 1
25 1 50 2 75 4 100 2

Jlgw 0yloss|  cuses S Jloww olocis | cumo aiusS Jlsw o)l | umo asS | | Jloww o)los | o awsS
101 1 131 161 191
102 4 132 162 192
103 3 133 163 193
104 3 134 164 194
105 4 135 165 195
106 2 136 166 196
107 1 137 167 197
108 2 138 168 198
109 4 139 169 199
110 3 140 170 200
111 141 171 201
112 142 172 202
113 143 173 203
114 144 174 204
115 145 175 205
116 146 176 206
117 147 177 207
118 148 178 208
119 149 179 209
120 150 180 210
121 151 181 211
122 152 182 212
123 153 183 213
124 154 184 214
125 155 185 215
126 156 186 216
127 157 187 217
128 158 188 218
129 159 189 219
130 160 190 220

g 0ybo] o aiS | | o oybos | anmo asS | | Jlgaw oot | o aisS Jlgw oplos | oo s

221 251 281 311
222 252 282 312
223 253 283 313
224 254 284 314
225 255 285 315
226 256 286 316
27 257 287 317
228 258 288 318
229 259 289 319
230 260 290 320
231 261 291
232 262 292
233 263 293
234 264 294
235 265 295
236 266 29
237 267 297
238 268 298
239 269 299
240 270 300
241 271 301
242 272 302
243 273 303
244 274 304
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245 275 305
246 276 306
247 277 307
248 278 308
249 279 309
250 280 310
Jlgw o)loci| oumso aysS Jlgw o)locss | zumo aiysS Jlgw o)locss | oumes aigS Jlgw o)locss | oums asS
1 4 26 4 51 2 76 1
2 1 27 2 52 2 77 3
3 2 28 3 53 1 78 3
4 3 29 4 54 2 79 4
5 2 30 1 55 1 80 2
6 1 31 2 56 3 8L 3
7 4 32 2 57 1 82 2
8 3 33 1 58 4 83 3
9 2 34 3 59 1 84 1
10 1 35 4 60 2 85 3
1 3 36 2 61 3 86 2
7 2 37 4 62 2 87 1
13 4 38 L 63 2 88 2
14 4 39 4 64 3 89 1
15 2 40 2 65 2 90 4
16 1 41 1 66 3 91 3
17 3 42 3 67 1 92 4
18 1 43 3 68 4 93 3
19 2 24 3 69 3 9 2
20 4 45 1 70 1 95 1
21 3 46 4 71 2 9% 4
2 1 47 4 72 1 97 2
23 3 48 1 73 2 98 4
24 4 49 3 74 2 99 2
25 2 50 2 75 4 100 1
Jlgw 0yloss|  cuses S Jlow olocis | cumo aiusS s o)l | umo asS | | Jlow o)los | o awsS
101 2 131 161 191
102 3 132 162 192
103 4 133 163 193
104 4 134 164 194
105 3 135 165 195
106 1 136 166 196
107 2 137 167 197
108 1 138 168 198
109 3 139 169 199
110 4 140 170 200
111 141 171 201
112 142 172 202
113 143 173 203
114 144 174 204
115 145 175 205
116 146 176 206
117 147 177 207
118 148 178 208
119 149 179 209
120 150 180 210
121 151 181 211
122 152 182 212
123 153 183 213
124 154 184 214
125 155 185 215
126 156 186 216
127 157 187 217
128 158 188 218
129 159 189 219
130 160 190 220
g 0ybo] o S | | o oybos | anmo asS | | Jlgaw oot | o aisS Jlgw oplois | oo S
221 251 281 311
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222
223
224
225
226
227
228
229
230
231
232
233
234
235
236
237
238
239
240
241
242
243
244
245
246
247
248
249
250

252

253

254

255

256

257

258

259

260

261

262

263

264

265

266

267

268

269

270

271

272

273

274

275

276

277

278

279

280

282

283

312

284

313

285

314

286

315

287

316

288

317

289

318

290

319

320

291

292

293

294

295

296

297

298

299

300

301

302

303

304

305

306

307

308

309

310
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